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fun input msg =
print msg;
read

fun adder =
print

(input
“1st number?”)

+
(input

“2nd number?”)





fun produce-html msg hidden-mark env = ...

fun adder =

hidden-mark = extract-hidden-mark

env = extract-env

ans = extract-answer

if hidden-mark = undefined then

produce-html “1st number?” “step 1” []

else if hidden-mark = “step 1” then

produce-html “2nd number?” “step 2” [ans]

else if hidden-mark = “step 2” then

produce-html ((hd env) + ans) “done” []
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fun input msg =
print msg;
read

fun adder =
print

(input
“1st number?”)

+
(input

“2nd number?”)

fun input msg f =
print msg;
f read

fun adder =
input

“1st number?”
n0 =>
input

“2nd number?”
n1 =>
print n0 + n1

fun input msg f =
print msg;
f read



fun input msg f =
print msg;
f read

fun adder =
input

“1st number?”
n0 =>
input

“2nd number?”
n1 =>
print n0 + n1

fun input msg f env =
print msg;
f env read

fun adder =
input “1st number?”

f0 []

fun f0 [] n0 =

input “2nd number?”
f1 [n0]

fun f1 [n0] n1 =
print n0 + n1



fun input msg f env =
print msg;
f env read

fun adder =

input “1st number?”

f0 []

fun f0 [] n0 =

input “2nd number?”
f1 [n0]

fun f0 [n0] n1 =

print n0 + n1

fun input msg idx env =
print msg;
apply idx env read

vector funs = {f0, f1}

fun input msg idx env =
print msg;
apply idx env read

fun apply idx env =

funs.idx env

vector funs = {f0, f1}

fun input msg idx env
print msg;
apply idx env read

fun adder =

input “1st number?”
0 []

fun f0 [] n0 =

input “2nd number?”
1 [n0]

fun f0 [n0] n1 =

print n0 + n1

fun apply idx env =

funs.idx env

vector funs = {f0, f1}

fun input msg idx env =
print msg;
apply idx env read
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→
fun input msg idx env =

print msg;
apply idx env read

vector funs...
fun apply...

fun adder =

input “1st number?”
0 []

fun f0...
fun f1...

fun input msg idx env =
produce-html

msg idx env

vector funs...
fun apply...

fun f0...
fun f1...

fun adder =

idx = extract-idx;

env = extract-env;

ans = extract-answer;

apply idx env ans;

handle NoCont =>

input “1st number?”
0 []

vector funs...
fun apply...

f f



#include <stdio.h>

typedef struct {
int code;
void *env;

} closure;

typedef void
(*closuretype)(void*, void*);

void input(char *s, closure *k);

closure *make_closure(
int code, void *env){
closure *k = (closure*)

malloc(sizeof(closure));
k->code = code, k->env = env;
return k;

}

void f0(void *env, void *n0) {
closure *k = make_closure(1, n0);
input("2nd number?", k);

}

void f1(void *n0, void *n1) {
printf("%d\n", (int) n0 + (int) n1);

}

closuretype closures[] = {f0, f1};

void apply(closure *k, void *args){
int code = k->code;
void *env = k->env;
free(k);
(*(closures[code]))(env, args);

}

void input(char *s, closure *k){
char buffer[10];
int i;
printf("%s", s);
fgets(buffer,10, stdin);
i = atoi(buffer);
apply(k, (void *) i);

}

int main() {
closure *k =

make_closure(0, (void *) 0);
input("1st number?", k);
return 0;

}



REM adder

...

IF idx = 0 THEN GOTO 100

ELSE IF idx = 1 THEN GOTO 200

...

100 REM f0

...

200 REM f1

...



val high_score = ref 0;

...

high_score := !high_score + 1;

val high_score = ref 0;

...

high_score := !high_score + 1;
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BUY=SCANNER
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7665671

SEQ=7665671
Balance=900

SEQ=7665671
Balance=900

BUY=FLATSCREEN
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7665671

SEQ=7665671
Balance=900

Balance=160

7665672

SEQ=7665672
Balance=160
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7665671

SEQ=7665671
Balance=900

Balance=160

7665672

SEQ=7665672
Balance=160

“Thank you :-)”

SEQ=7665671
Balance=900
BUY=SCANNER



7665671

SEQ=7665671
Balance=900

Balance=160

7665672

SEQ=7665672
Balance=160

“Thank you :-)”

SEQ=7665671
Balance=900
BUY=SCANNER
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